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' "'Booklet A: 24 questions (48 marks)
»;_Note"»

'1;'fDo not open the booklet untll you are told to do so

B 2 .'Read carefully the mstmcttons gtven at the begmnmg

L -_Lof each part of the booklet.

o 3 lDo not waste tlme lf the questlon is. too dlﬁ" cult for you

L go on to the next questlon

;Check your answers thoroughly and make sure you
L attempt every questlon '




, ;.ons 1 to 24, choose the most suitable answer and shade its number
in the OAS provided.

1. Thomas kept three insects in a box. The box was piaced in the Scnence room He
recorded his observation in the. table below AR o

©co 00 o9 — hole

insect -———é}g&% ’5/@ = food and water refilled daily

Day Number of insects
0 3
5 1
10 B 0

- _Based on his observatron what charactenstic of imng things is shown by the
msects at the end of day 1 07

(1) Living things dle.
(2) Living things grow. .

- (3) Living things reproduce. . :
(4) Living things respond to changes.

.. 2. Mark bought some goldfish-and placed them inside a tank as. shown below. .~~~

- water plant ——

Whtch of the foHowmg 13 correctly class:ﬁed?

meg thmgs | Non-hvmg thmgs

| goldf‘sh and water ‘ W.ate'iP'am:andpebbie;v

~goldfish and pebble.

“'ater-plant and goldf sh T

: pebble and water "»;J o B




3. The table below shows the charactenstzcs of four thmgs

needs air, food and | responds. to . reproduces
water to survive changes
chicken - yes yes no
clock no 1 yes | yes
| fern ‘ yes | yes |  no.
yeast yes yes yes

Which one of the following things in the table is correctly described?

(1) chicken
(2) clock
(3) fern
(4) yeast

. 4. The picture below .shows abat.

A bat is not classrf ed in the same group of ammals as a bxrd Some students‘ _
made the fonowmg statements to try and explam why ‘ :

: ._A A bat has- tmy wrngs but a brrd has 1arge wmgs R S e s
B: A bat has hair as its body covering but.. a bird has feathers ,
s C - A bat has short"tegs but a‘brrd has Iong Jegs

i ’Whrch of the statement(s) rs/are the correct explanatson'?

l (1) B only
(D) Aand B only



5. Study the flow chart below carefui!y
nd D represent-: four dlfferent orgamsms

Does it
have roots?

. Does it have a
stem?

" Does it have
. flowers?

- thch of the fouowmg best repfesents a mushroom’?

) At T e e
@) B et e A e B TR T e e T

6. Which of the following best vgeééﬁbe‘s-jtﬁé?fiiﬁ_cjiiéﬁ;'af‘,tiié feeth? i




7 Whigh_ of thé' fql!bwing ,isf_nbt_ part of the circulatory system? -

(1) heart -
(2) brain

(3) blood

{4) blood vessels

8. Study the picture below carefully.

* 'What do A, B and C represent? .

A B c

() | teaf | root | stem |

(2) root _ leaf stem

™ | stem | leat | root

[T@ | root | stem | . leaf.




9. Lebron discovered plant Y- growing up the school fence as seen below.

reED) N

Which of the following statements are true about this plant?

A: PlantY can make food:
B: Plant Y has a weak stem:
C: PlantY is a flowering plant.

(1) A and B only

(2) AandConly ...
(3) B and C only

(4) A,BandC

10. Study the diagram sh_own.' ,

* Which of thie following is correct?

. [Absorbs water | Keeps the plant upright |
| B8 | ¢

Makes food for theplant | . .

AL A
121 B
L @3).

:__C

A




B o 11 Lee’- Sm.has two s»rmlar otted plants with a height of 20 cm.

1 elocaﬁon in a ‘garden’ but watered them with

100ml of
water daily

50mi of
water daily

Plant A Plant B

At the end of two weeks she measured the height of each plant and recorded
them in the table below.

Height of plant

[PlantA | 25ecm

PlantB - = 30 cm

What IS the asm of Lee Sm s expenmenti> )

To ﬂnd out rf the . | affects the growth of the plant. .

o ff(1) amount of femhser used
“(2) "amount-of water used -
L (3) locatton of the plants e e Eme L T T i




A } 1"‘2#3?!“"_‘)/.“'?!“3@ to find out if the amount of light affects the growth of the plant.

Set-upA : Set-up B  Black box

" Container contained]

Y 7T ey

Set-upC Black box | Set-up D

plant plant

% container : 3 ¢ container
R S or A R e e N it
SEE TR T SR e e ) R AR kL P T T

| . .Which _t_wg',s,ét—ugﬁs_ should Sammy use to.ensure it is a fair test?

(1) Aand C
(2) Band C
(3) Band D
{4) Cand D

o '13; .Fi‘)dr pupil's are tasked to identify the different parts of the leaf as shown below.




14. The diagram below shows the human digestive system.

At which parts of the system are digestive juices added?

(1) AandBonly
(2) Band Conly

(3) CandDonly
(4) A, Band Conly

15. The diagram shows the head of a fish. Part X is classified in the same body
. system as the lungs in the human body system.

Which of the followmg correctly :dentlfy pan X and the body system par’( X ss S
. classified. undef? R L TR S O

TR ~Body System -

. (1) : Guls Ctrculatory " N B




16. James conducte_d an experiment with two planks. Each plank is made of a
rent L The length and thlckness of each plank is the same. The
d:agrams show what happened after a 100g load was plamd on each plank.

1009 "

I == Plank P

100 '
Plank Q

2,
7
V//

What can James conclude about plank P and Q?

Plank P.is than Plank Q.

(1) heavier
(2) lighter
_ (3) weaker. .
. (4) stronger - -

17. The diagfam sths a life buoy which is used to save peoble frdm drowning in
" the swimming pool.

partXo

s "’"_‘For the matenal used to make part X what is the most Important prope;ty ;t must e
;have? S A TR S . S

Th _:matenal mu t be __

: *‘""(1) heavy
(2 transparent
(3): waterpro



18. Bernice is given a box containing the magnets shown.

Which one of the following types of magnets is not found in the box?

(1) bar magnet
(2) ring magnet
(3) button magnet
. (4). horseshoe magnet

19. Olivia has a set-up as shown.

As"teél?rod* -
x :- :What can shé do to lncrease the magnetic strength of the steei rod? R e e .

- "A: Add one more. battery to the set—up
. B: Coil the wires around the battery. -
LG ‘lncrease the number of corls of wire- around the stee! rod

(1) ;A_ only o .. o
(2 Bonly
.. (3) Aand Conly. - -

... (4) B.andC.onl

10



20. Al recorded the interactiohs a magnet has with three different objects in the table
- shown. SR . _ ‘ o

Object Attracted by the magnet | Repelled by the magnet
A . L
B - N

X

Cc X X

Which of the objects are made of magnetic materials?

(1) A and B only
(2) A and C only
(3) B and C only
(4) A,BandC

_21; Which of the following electromagnet has the greatest magnetic strength?.

copper.

— rd ronrod

11



N 22 ~Mmah bought a new.bar ma:gvnet She tested the magnetsc strength of the bar

She then recorded the number of steel paper clips attracted to each part of the
magnet in the graph below. However, she mixed up the results.

- Number of R
paperclips =~
aftracted

L Whlch one. of the followmg shows the most hkely number of paper cllps attracted

» by each part ofthe magnet? ST

X x| <=

12 .

PartA Part B P artC : SRR




‘23" Jacquelme wanted to find-out whether the distance between the magnet and the
L wmber of iron pins attracted by the magnets.

- She placed three different types of magnets, A, B and C, at different heights as
: shown below.

| string
magnets
c
B =<
A / jron pins
plastic tray Y

| A= PN [P ) g

What should J'acque-l-ine do to ensure her set-up is a fair one?

{1y She must use strings of equal length.

(2) She must change the i iron pins to silver pins. .
- (3 - She must replace the plastic tray with a wooden tray

{4) She must. use the same type of magnets.

13



24. Magnet X has two unknown poles A and D. The d:agram shows the resuit when
magnet Y was placed near magnet X. S

A

Magnet X

Magnet'Y

Jane then cut magnet X into two pieces as seen below. When it is cut, it became
two separate magnets. ‘

A

B C D

Which one of the following arrangements of the fnaghets is correct?

o 1_)

. ,(2')_’. .

/ _Please check youranswers. -

14
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Sectlon B:
Answer all questions in the space provuded

25. Charlie accidentally left two donuts in a sealed bag before he went for a one
week vacation. When he came back home, he saw some black spots growmg on
. the donuts as seen in diagram 1. ‘ S o .

sealed_— |

bag

———= black spots

Diagram 1

(a) From reading his Science textbook, Charlie knows that the black spots contain
- bread mould. What other living things can be found on the black spots? (1m)

Charhe leﬁ the donuts on the table for another week to observe what would
happen to them. : - ~

sealed 37 7 black spots

bag

Dlagram 2.

- (b) Based on. d:agram 2 descnbe the change in the amount of bread mould on the B,

- donuts aﬂer one more week (1m)

e (c) What charactenstlc of hvmg thmgs is. shown by the change:snv the:amount of
bre d moutd’7 (m). ’ -

15




26. Study the flow chart. -

‘ ', " Reproduce by .
laying eggs?

Has scales as an
.outer covering?

Has feathers as an
outer covering?

- {a) Based on the flow chart, identify the characteristics of animal-B. (1m)

_(b) Statea difference between animal Aand animal D. (1m)

() Which aniimal (A, B, C or D) wolid best represent a goldfish? (1m) "

16



27. One month ago, Ahmad cut all the grass in the garden to the same height. He
added ‘the same amount of fertiisers and water to the: ground daily.
One month Iater he observed the followmg during his walk in the garden.

sun

~ grass on patch A . grass patchon B

. (a) He observed that the grass on patch A under the tree were shorter than the
' grass on patch B. Explain why (2m) ' ‘ '

He took a cioser look at the tree and saw a brrd 'S nest fern growmg on rts trunk I

} : ;:bi;rr‘j‘s nest fern . o

. (b) Study the fwo statements Ahmad { made about the brrd’s nest fem
+Tick ( \/ )_th_e correct box for both: p_a‘rts @) and- -("), (1m_) _ '

A L e True .. ”'f-':'aiise )
-|(i) Bird'snestfernisnotableto| . = . -
1. makeitsownfood.” .

17 3




28. Hassan has two set-ups, P and Q. He placed them atthe same location.

—————a layer of oil————]

Set-up P

He observed the set-ups for the next three days and recorded the amount of
water absorbed by the plants in both set-ups.

" Day 0 1 2 3
Volume of water in Set-up P {(ml) 300 | 260 | 220 180
Volume of waterin Set-up Q(ml) | - 300 | 280 260 |- 240

(a) What can be observed about the volume of water in set-up P compared to set-up
" Q at the end of 3 days? (1m) . ,

(b) *What can he conclude about the experiment? (Im) ~

18



29. Study the human body systetb_shownl

~(a) Name the part labelied R. (1m) -

(b) Atwhich part, P, Q, R, S or T,.is digestion of food completed? (1m)

- {c) Whatis the function of the part labelled T2 (1m) = .~

19



30. During the production of an umbrella, it is impoxtar}t to make the frame of the
umbrella using steel before covering it with waterproof fabric. ' '

frame of an umbrella

(@) Name the human body system that has a similar function as the frame of the
umbrella. (1m)

. (b) State a similarity between the function of the frame of the umbrella and the
- 'system identified in part (a). (1m) [

20



31. Edwin placed strips of two materials, X and Y, into two :dentlcal beakers of water
for two mmutes and recorded their masses.

X Y
Time (minutes) Mass of Mass of
Material X (g) Material Y {g)
0 10 10
1 13 : 10
2 16 10

" fa) What can he conclude about material Y?.(Im)

(b) His friend asked him to repeat the expenment a few more ttmes How is this
- helpful to the results of the-experiment? (1m) ' g .

. _.  (c) He accndenta”y sptlled hts orange Jmce on: the tab!e Whtch matena! should he" T e
 useto dry up the table’> Explam your answer (Zm) ‘ o

21



32. Martha is trying to create a magnet by stroking an iron needle in the direction

sho n repe edly usmg a bar magnet

-iron needle

(a) Identify the two poles of the iron needle when it is magnetised by wiiting ‘N’ a
‘the North-seeking pole and ‘S’ as the South-seeking po!e in the boxes above
(m) '

She tied the magnetised iron needle on a thread and left it hanging freely.

- thread
iron needle

o -(b) At whlch dlrectlon Wl" the magnetlsed 1ron needfe come to a rest after 1t stops )
. - moving?(1m) - e TR , e

22



She placedthe magnetised iron needle 5 cm away from the plastic tray as seen
below

A

T

plastic tray -

) ~~ iron nail

(c) State one property of the iron nails which enables them to be attracted by the
magnetlsed needle. (1m)

(d) Using only a bar magnet, what can Martha do to increase the magnetic stréngth
of the needle? (1m) ' : A

23



33. Deva set up the experiment as shown. -

battery

iron rod

; 7 ﬁ———— thumbtacks

She has 3 set—ups A, B and C Each of the set—ups conststs of a similar iron rod
and has the same number of coils of wire around the iron rod.
“She recorded her observations in the table below.

Set-up | Number of batteries | Number of thumbtacks attracted
used by the iron rod
A 1 3
B 2 6
C 3 8

(a) What is the aim of Deva’s experiment? (1m)

(b) Give an eéxample of a material that the thumbtack is most likely made of. (1m)

. .(c) By replacing the i ron rod wnth an alummlum rod will the expenment still work’7 o
Explam why (1m) : w e - . :

(d) Ba\sed on the table _»what is the reiatronshtp between the number of battenes o ' o

24




34.A :factoiy makes use of a machine with a magnet to separate the objects into '
- different boxes as shown in the diagram below.

(Zm)

Tick ( V) in the correct. box(es)
Objects ’

, __qupvi,n.t;owBox A? | Drop iﬁ_to. Box B? .

Glass marbles

Nickel coins .

' :’Steel ball beanngs; T

25



{b) Three unknown metal bars are hung side by side from the ceiling.
. Thediagram below shows the interaction t_hat took place among the metal bars.

metal baf c
/

metal bar A
: metal bar B

(i) Which two of the metal bars, A, B or C, are definitely magnets? (1m)

= .-(ii)_'Ex-p-!ain youréﬁsWer in pért (i):. (_ﬁn)' | . :

EndofBookets

-+ .~ -Please checkyouranswers. - .- - .

26
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 EXAM PAPER 2015

--};,LEVEL : PRI"[ RY 3

Q1 .{Q2 Q3 Q4 {Q5 Q6 Q7 Q8 Q9 Q10
o1 3 4 1 b e b2 ) 30 4 3
Q11 |0Q12 |Q13 |Q14 |Q15 {Q16 [Q17 [Q18 Q19 |Q20
2 4 | -2 4 2 4 3 2 3 1
1Q21 [Q22 Q23 |Q24

2 1 4 3

QZS. a) bacteria
b) There would be more bread mould on the donuts.
c¢) Living things reproduce.

Q26. a) Animal B reproduce by laying eggs and has feathers as an outer covering.
b) Animal A does not reproduce by laying eggs but Animal D does.
c)C . : A

. 'Q27:a) Gréss on Patch A has less SUnlight and will make less food Hénce; the
grass on Patch A will grow more slowly than the grass on Patch B. '
b) i) False 11) Fa]se

Q28.a) The volume ofwater in set-up would be in set-u.p Q.
b) A plant with more roots would absorb more water.

©Q29.a) Stomach
- b)PartS
: c) Water is absorbed from the und;gested food

- Q30. a) Skeletal System R
' b) Both nge the ob}ect then' shape

Lo Q31 a) Matena] Y is waterproof S0 it does not absorb water

S '_ﬁ:;_"f'.i,to dry up the table

- bt ensures that the results of the experiment are reliable _
- c) Material X. It 1s not waterproof and wm be able to absorb the orange )ulce S

~ b) lt would be‘facmg the North South dxrect:on -



Q33.a) Toﬁnd pﬁt how the numUéi‘ of batteries affect the magnetic strength of

Copper etc. :

: -Aluminum is a non- magnetic material which cannot be magnetised.
d) As the number of battenes used increases, the number of thumbtacks

attracted increases.

'Q34. a) Glass Marbles: Box A, Nickel Coins: Box B
Copper Rings: Box A, Steel ball bearings: Box B
" b) i) Metal Bar A and Metal Bar B.

it) Metal Bars A and B repel each other as the like poles are facing each
other.

THE END




